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Al 5,478,947 4,933,606 545,341
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E NN = 14,173,094 9,672,483 4,500,611
s 5,551,011 2,161,011 3,390,000
< 3,180,500 2,615,500 565,000
Al 5,441,583 4,895,972 545,611
R s N 14,173,094 9,672,483 4,500,611
s 5,551,011 2,161,011 3,390,000
< 3,180,500 2,615,500 565,000
Al 5,441,583 4,895,972 545,611
201 L Et2A | 110,047 122,275 AN 12,228
01 At 2teltl 54,636 60,707 26,071
OAMZoler 2
2 & 54,636,000&-J1& 60,707,000& 26,071 0 26,071
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OAMZoler 22
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OAMZoler 22
238 56,347,000&-J1& 62,608,000& 26,261 0 26,261
203 YR =2t 8,100 9,000 A 900
03 Al =AY R =& 8,100 9,000 A 900
OAMZoler 2
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02 RIZt X2 AL EZ (01X TS ) 13,919,000 9,399,000 4,520,000
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— 20184 2 &7,599,461,000& 7,599,461 3,079,461 4,520,000
s 5,551,011 2,161,011 3,390,000
=) 764,000 199,000 565,000
Al 1,284,450 719,450 565,000
& APH (HEsHY) 37,364 37,634 A 270
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